(0 @) (rad)

=
<

a(d cot(d))

° 1 .9105%_ s it L L | Y AT T
S S r 2 i
14 1 04 r F[|: +
| R EEEEEE H Liaa -+
::'" T 05: “:’ Edhg ::JE )
3 -1 2 3
10 0? 1 10 1 10 0 1
TP, (PCA t% beamling TP, (PCA t% beamline
—=— DQM_V0001_R000000001__Global_CMSSW_ckfPU50__RECO
—— DQM_V0001_R000000001__Global__CMSSW_mkFitPUSOLowPtQuad__RECO
—— DQM_V0001_R000000001__Global__CMSSW._LowptQnoclean_ RECO
=~ 1 =~ 1
= F €
5] r (5]
2 L e
-~ » -
=} or
=]
=2 i =2
35 o
107}

8 L

- -

g 1sf-
-
10™

~ 1

o

-

o

o

)

5]

Ratio

s

Iil

-+

2 3
! TPlp?T (PCA tjbobeamliné'f)

,_.
<
L

: 2 3
1 TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


